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X
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X

alpha13_4eX4aX:cyclenum {run == 7106}
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cyclenum

30.4−

30.2−

30−

29.8−

29.6−

29.4−

29.2−

29−

28.8−

28.6−

28.4−

28.2−
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4e
Y
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Y

alpha46_4eY4aY:cyclenum {run == 7106}
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X

delta13_11X12X4eX:cyclenum {run == 7106}
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cyclenum

4−

3.5−

3−

2.5−

2−
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X
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Y

delta46_11X12X4eY:cyclenum {run == 7106}
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113.5−

113−

112.5−

112−

111.5−

us
l_

4a
X

usl_4aX:cyclenum {run == 7106}
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2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8
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4a
Y

usl_4aY:cyclenum {run == 7106}
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52

52.5

53
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4e
X

usl_4eX:cyclenum {run == 7106}
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15.6
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16

16.2

16.4
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17.8
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Y

usl_4eY:cyclenum {run == 7106}
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39−

38.5−

38−

37.5−

37−
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l_
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X
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X

usl_11X12X:cyclenum {run == 7106}
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7107
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7108
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X

usr_4aX:cyclenum {run == 7106}
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5

5.5

6

6.5

7
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Y

usr_4aY:cyclenum {run == 7106}
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201.5
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203.5
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X

usr_4eX:cyclenum {run == 7106}
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7.5

8

8.5

9

9.5
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Y

usr_4eY:cyclenum {run == 7106}
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37.8−
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37.4−

37.2−

37−

36.8−
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36.4−

36.2−

36−

35.8−

35.6−
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11
X
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X

usr_11X12X:cyclenum {run == 7106}
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7104
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7106
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7107
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7108
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n

run:cyclenum {run == 7106}



8028 8028.5 8029 8029.5 8030
cyclenum

33873

33873.5

33874

33874.5

33875

us
l_
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il1

usl_coil1:cyclenum {run == 7106}
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6812

6812.5

6813

6813.5

6814
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usl_coil3:cyclenum {run == 7106}

8028 8028.5 8029 8029.5 8030
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4161

4161.2

4161.4

4161.6

4161.8

4162

4162.2
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4163
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l_
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usl_coil4:cyclenum {run == 7106}
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326.4−

326.2−
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325.8−

325.6−
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324.8−

324.6−

324.4−
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usl_coil6:cyclenum {run == 7106}
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cyclenum
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usl_coil7:cyclenum {run == 7106}
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7104
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7106
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n

run:cyclenum {run == 7106}



8028 8028.5 8029 8029.5 8030
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29577.8−

29577.6−

29577.4−

29577.2−

29577−

29576.8−

29576.6−

29576.4−

29576.2−

29576−

29575.8−

29575.6−

us
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usr_coil1:cyclenum {run == 7106}
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cyclenum

5999.5−
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5997.5−

us
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usr_coil3:cyclenum {run == 7106}
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3461.6

3461.8

3462

3462.2

3462.4

3462.6
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usr_coil4:cyclenum {run == 7106}
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usr_coil6:cyclenum {run == 7106}
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17824

17824.5

17825
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17826

us
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usr_coil7:cyclenum {run == 7106}
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n

run:cyclenum {run == 7106}
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4aX_coil1:cyclenum {run == 7106}
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79.5−

79−

78.5−

78−
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4aX_coil3:cyclenum {run == 7106}

8028 8028.5 8029 8029.5 8030
cyclenum
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4aX_coil7:cyclenum {run == 7106}
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521.5−
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4eX_coil1:cyclenum {run == 7106}
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4eX_coil3:cyclenum {run == 7106}
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4eX_coil7:cyclenum {run == 7106}
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174.6
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175.2
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176.6
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4aY_coil4:cyclenum {run == 7106}
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4aY_coil6:cyclenum {run == 7106}
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4aY_coil7:cyclenum {run == 7106}
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188.5

189

189.5

190

190.5
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4eY_coil7:cyclenum {run == 7106}
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11X12X_coil1:cyclenum {run == 7106}
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11X12X_coil3:cyclenum {run == 7106}
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11X12X_coil7:cyclenum {run == 7106}
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n

run:cyclenum {run == 7106}
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